5.5 Graphing from Intercept Form
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What information do you need in order to grapha quadratic function? —Q—Q/L//O
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Let’s practice graphing a parabola from intercept form:
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INTERCEPT FORM:
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How to find the Vertex in Intercept Form:
\3 T % F\LH' K- m&au{;-‘rs
7)

3) ?\\33 N axhs ap 5\IM¢%\—PY ’

Find axis mc s\iMWZA'f"y b\l
o114 N\—mey' betuween

| x—ln‘rércz?*$ |

o Tegoation to gty of

versex ,yi x=) Y-.(\—L’t)(i'f?—)
= -4
\\ka‘i (i, - 4\

Graphy = (x — 4)(x + 2)
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mple 1: Graph the following quadratic equations
b) y=x(x—-8)

a))y=(x+2)(x+6)
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2. Graph the following quadratic equations

//,;p/é’(x 5)(x 1)

b) ¥ = (x = 3)(x - 5)

s Ay ~(x—3)(x—1)
i e [ face e o R )
pssogsd { ITE_ . L ! —:1
NS
B S
|1 }
b4 44— 4
JEEEENEEEE
BEEEEEREES
1 s
- T
B EEEEEEs
A0 1 A B o
i .
B 1T i |

x-intercept(s):
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Max/min value: — 2
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End behavior:
As x>0,

y—700

As x> -, y >

x-intercept(s):
y-intercept:
Axis of Symmetry:
Vertex:
Max/min value:
Domain:

Range:
Increasing:
Decreasing:
Positive:
Negative:

End behavior:
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x-intercept(s):

y-intercept:

Axis of Symmetry:

Vertex:
Max/min value:
Domain:
Range:
Increasing:
Decreasing:
Positive:
Negative:

End behavior:



